
Osnovi elektronike – Odsek SI      Drugi kolokvijum - 2019/2020. 

 

 
 

REŠENJA 
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2. a) �� = −�√2V ,  �� = �
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b) ��(�) = 2Vsin(ωt), �� = 

�  Ω ,  �� = 0.8 mF  
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d) %"(�) = 4Asin(ωt) 
 
 
3. () = −*+ = −0.7V = -./0�, za −3mA ≤ %3 ≤ −1.4mA, 5
-ON, 56-OFF. 

()[V] = �6%3 = 0.5 :
;< ∙ %3[mA], za −1.4mA ≤ %3 ≤ 1.4mA, 5
-OFF, 56-OFF. 

() = *+ = 0.7V = -./0�, za 1.4mA ≤ %3 ≤ 3mA, 5
-OFF, 56-ON. 
 
 

4.  

 
 
 
 
5. a) Potencijal vX na izlazu prvog opreracionog pojačavača je X I Gv v v= − . 
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b) X I Gv v v= − . 

4 3 4 3 3I G X G I Gv v v v v v= − = − +  
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c) vI(t)=6mV–14mVcos(ωt). 
 


